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Dispone de 90 minutos oa ra re-s.hzar el e:-qamen

Material permitido: CALCULADORA BASICA, no clentifica ni programakle ni graflca,

Mientras tenga el examen en su poder SOLO puede comunicarse con los miembros del Tribunal de examen. Cuslguier otro tipo
de comunicacion o uso de dispositives o materigles no autarizados supondra |a retirada del examen, 1o que sera reflejado en el

Acta como COPIA ILEGAL

El cxamen debe realizarse con beligrefo azul o negro,

No puede utilizar ningun tipo de corrector {Tipp-Ex).

Mo pucde utilizar ninguna hoja gque no haya sido entregada por algdn miembro del Trikunal de examen. Las hojas de respuesta
deben ir numeradas an las casillas que aparecen en la parte inferior,

You have 90 minutes to complete the exam,

Alloweod material: BASIC CALCULATOR, not scientific, programmakle, or graphic.

Once the exam starts, you can anly talk to an invigilator, Any other type of communication or the use of unauthorized devices or
materials will resuic in the withdrawal of the axam. The latter will be [abelled 35 ILLEGAL COPY and attached 1o the invigilator's
report.

The answers must be written in either blue ink or black ink.

Do not use any carrection fAuid (for example, Tipp-Ex).

Sheets not provided by the invigilators must not be used. All answer sheets must be numicerad in the boxes at the bettom of the
“hEFl

R

La pmel:ra consta de dos partt-;-ﬂ

a)

o}

PRIMERA PARTE: Blogue de 10 preguntas objetivas con un valor total de 5 puntos, Cada acierto suma 0.5 puntos, cada error
resta 0,15 v las preguntas en Blanco no computan. Para contestar a este blogue debe utilizarse la hoja de respuestas Tipo Test.
Es MUY IMPORTAMTE leer as instruccionas sobre cdmo deben marcarse [as respuastas, Las respuestas marcadas incarrectamente
no setendran en cuenta. Selo hay una respuesta correcta a), b} o ¢) para cada pregunta.

Debe alegir v contestar a 10 de las 15 preguntas. 5 contesta a mas preguntas de las requeridas sole se computaran las 10
primeras.

SEGUNDA PARTE: Blogue de prepuntas de desarrollo con walor total de 5 puntos. Debe contestar a 2 de los 3 problemas
propuestos,

The exam consists of two parts:

a)

o)

PART I: It consists of 10 questions worth & total of 5 points, 0,5 points are added for a correct answer 0,15 points are deducted
for anincorrect answer, no paints are deducted for a blank response. Answers should be recorded an the OMRE answer sheet. It

s wary important that you read the instructions on how your answers must be recorded. Answers recorded incorrectly will not
pe taken into account, There is only one correct answer for each guestion: either a), or b) ar ¢,
You must choose and answer 10 out of the 15 guestions on the text, If you answer more questions than required, onhy the first

10 will be marked. In
PART II: Block of dovelopment guestions: with a total value of 5 points. You must answer 2 of the 3 proposed statements.
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EXAMEN EN ESPANOL

PARTE 1.- CUESTIONES

1.- Dada una matriz A cuadrada, se dice gque es antisimétrica si se cumple:

a) Cualguier matriz cuadrada gue no sea simeétrica, es antisimetrica.
by La matriz A es igual a su matriz traspuesta, 4 = A'.
¢) Ninguna de las anteriores.

2.- Una matriz A es diagonal si se cumple que:

a) Es cuadrada vy los elementos no pertenecientes a |la diagonal principal son todos iguales a2 1.
b) Todos los elementos de |a diagonal principal son 1.
¢) Ninguna de las anteriores.

3.- Dadas dos matrices A = (i {1]) y B = (i g), el resultado de hacer 24" — 3B es:

-1 =2 . _ _ - 1 2
a) ( { 9 ) b) No es posible realizar las operaciones solicitadas. ¢) (_ . g)
4 - Dada |a siguiente inecuacién 4x — 54+ 3x < x—4 4+ 3x. Lospunlos x = 1y x = 2 son:

a) Ambos valores son solucion de la inecuacion
b) Ninguno de los valores es solucidn de la inecuacion

c) El valor x = 1 no es solucién y el valor x = 2 es solucién de la inecuacicn

5.- Dada la inecuacion 2y + 3x— 5 = 1 . Un punto solucion es:

a) (0,3). by (2,0). t) Todos los anteriores.

: 4
5.- ;Cudl es el valor del siguiente limite {irmn ( 3 .)?

a) + oo, b) — oo, ¢) El limite no existe.

E—I—tl, Six < 4
dx — k, 5i4 = x

7.- Paraque f(x) = {

sea continua el valor de k es igual a
a)11. by 15. ¢) Ninguna de las anteriores.

8- Dadas las funciones f(x) = 2e%*  y g(x) = 3e3* ,calcular ( f(x) g(x))’

a) 30e>* . b) 6e>*, ¢} No se puede calcular la derivada.
Lafuncén £ () = 2 tien un maimo en &
9.- La funcion f(x) = —, tiene un maximo en el punto:

a)x =0, by x = —b, ¢} No liene maximos en esos punlos.
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10 Hallar | | 3e* + (-~ ) dx
a)3e*+ In(x)+C i 3e* +x*+C ¢) No es posible caleular la integral

11.-Si 4 y B son sucesos de un espacio de probabilidad, se verifica;
a) P(A/B) = P(B)P(B/A)/P(A).

by P{ANB)=P(A) + P(B) si Ay B son independientes.

ci P(ANB) = P{A}P(B) si A y B son independientes.

12.- De una urna con cuatro bolas blancas v dos negras se extraen al azar, sucesivamenta y sin
reemplazamiento dos bolas. La probabilidad de que las dos bolas extraidas sean negras es

a) 2/5. b) 1/15. c) 2/6.

13.- Se ha estudiado el numero de usuarios de tres plataformas de contenidos digitales cuyos valores
vienen resumidos en la siguiente tabla en funcion de su edad:

- Netvision | Hbsion | Moviplus | TOTAL
Menos de 30 afios | 320 310 125 755
Mas de 30 afios 410 245 180 835
Total 730 555 305 1590

La probabilidad de que, elegido un usuario al azar entre los menores de 30 anos, sea usuario de Hbsion
es.

a) 0,4106 b) 0,5586. c) 0,2934.

14.- 51 el peso medio de los chicos de 14 anos de una ciudad esta entre 51 y &4 kilos. Podemos afirmar
que el error maximo cometido al estimar el peso medio de los estudiantes es

alk=1,5. b) E = 3. crE=2 5
15.- En una distribucion, N( g, o) el intervalo caracleristico correspondiente a una probabilidad p = 1 —
o es (,u —ZLa -0, 4+ La - ﬂl') por tanto, para el 95% el intervalo vendra dado por:
2 2
a)(H—0,05-0, pu+0,05-0g).

Py (g—0,95-0, p+0,95-a).
ey(g—1,96:-0, u+1,96-0).
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PARTE 2.- PROELEMAS

1.- (2,5 puntos). Representar |a region faclible dada por |as siguientes inecuaciones:
2X+ 2V =<0
x=2
3x—6y=0
x=0,y=0
a) Hallar los puntos de |a region factible en los cuales estarian los posibles extremos de una funcion
cualguiera.

b) Sabiendo que la funcion £ = 3x + 5y representa el nimero de pedidos y el conjunto de inecuaciones

anterior son 1as condiciones, calcular si1 es [}ﬂﬂible, el numero maximo y minimo de pedidos que se
pueden realizar.

2 - (2,5 puntos). Determinar el valor de k& y de g para gue la funcion sea continua en tados sus puntos
x? x €(—wm 2]
filx)=+< 2kx x e (2,4]
gq+x x € (4 +co)

3.- (2,5 puntos). Un club deportivo va a presentarse a una compelicion en la gue se clasificara para |a
siguiente fase si la puntuacién media obtenida por los deportistas es superior a 24 puntos. La distribucion
de los puntos obtendos por los equipos sigue una distribucion normal de meadia £5 con una desviacion
fipica de 5 puntos. ;Que probabilidad de clasificarse tiene el club si se presenta un equipo formado por
15 deportistas? ;Y siel equipo lo forman 25 deportistas? ; (Jue equipo sera seleccionado para participar?
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EXAM IN ENGLISH

PART 1.- TEST

1.- Given a matrix A squared, it is said to be anti-symmetrical if it complies with the following:

a) Any squared matrix that is not symmedtrical, is anti-symmetrical.
by Matrix 4 is equal to its transposed matrix, A = A",
c) None of the above.

2.- A matrix A is diagonal if it complies with the following

a) Is squared and the elements that do not belong to the principal diagonal are all equal to 1.
b) All of the elements of the principal diagonal are 1.
c) None of the above.

Z 1
1 0

1 0

)and H:(l .

3.- Given two matrices A = ( )  the resultof 24" — 3B is;

a) (_1 _2) b) It is not possible to camry out the requested operations. ¢ (_11 - )

1 9 -9

4 - Given the following inequality 4x — 54 3x < x—4 4 3x Poinlsx =1and x = 2 are:

a) Both values are solutions of the inequality.
o) Mone of the values is a solution of the ineguality.

c) The value x = 1 is not a solution and the value x = 2 is a solution of the inequality.

5.- Given the ineguality 2y + 3x— 5 = 1 . One point solution is:
a) (0,3). by (2,0). c) All of the above.

' A
6.- What is the value of the following limit {im ( > ) ?
I_g.q_'l' X _16

a) + oo, b) — co, ¢) The limit does not exist.

~+4, six<4
dx —k, sid < x
a)11. by 15. c) None of the above.

7.- Inorderfor f(x) = { to be continuous, the value of K is equal to;

8.- Given the functions f(x) = 2e*, and g{x) = 3e** ,calculate ( f(x) - g(x))’

a) 30e°*. b) 6e>*. ¢} It is not possible to calculate the derivative.

2

X
9.- Given the function f(x) = —- Ithas a maximum in the point:

alx = 0. b x = —6. c) It does not have maximums.

ALIDELC D

Hoig & de B
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10.- Calculate | (Ee" + e)) dx

ay3e*+ In (x) + C.

m3e*+ x4+ €.
c) It is not possible to calculate the integral.

11.-If A and B are events in a probability space, it is verified:
a) P{A/B) = P(B)P(B/A)/P(A).

By P{(ANB) = P({A) + P(B) if 4 and B are independent.
c) PIANB) = P(A)P(B) if A and B are independent.

12.- From an urn with four white and two black balls, two balls are drawn at random, successively and
without replacement. The probability that the two balls drawn are black Is:

a) 215. b) 1/15. c) 216.

13.- The number of users of three digital content platiorms has been studied, whose values are
summarized in the following table according to their age.

MNetvision | Hbsion Maoviplus TOTAL
Less than 30 years old | 320 310 125 [
More than 30 yearsold | 410 245 180 835
Total f-30 iele J03 1580

The probability that a randomly selected user under the age of 30 will be an Hbsion user is
a) 0,4106 b) 0,5586 c) 0,2934.

14 .- If the average weight of 14-year-old boys in a city is between 51 and 54 kilos. We can state that the
maximum error made in estimating the average weight of students is:

a)E =1,5. by E = 3. 6 E=2.5.

15.- In a distribution, N{¢, &) the characteristic interval corresponding to a probabilty p=1— @ is

(,u —Le-O , p+ La- ﬂ') therefore, for 95% the interval will be given by:
z 2

a){(g—0,05-0, u+0,05-a).
b}(.u‘ﬂagm'ﬂ; F+“195*ﬂ-]-
)(g—1,96-0, u+1,96-0).
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PART 2.- QUESTIONS

1.- (2,5 poinls). Represent the feasible region given by the following inequalities::

2x+ 2y =06

x=2

3x—6y=0

x=0,y=0
a) Find the points of the feasible region where the possible extremes would be.
b) Knowing that the function £ = 3x + 5y represents the number of orders and the set of inequalities
above are the conditions, calculate the maximum and the minimum number of orders that can be made.

2.- (2,5 points). Find the value of K and ¢ 50 that the function 1s continuous at all its points.

x* x €(—on,2]
flx) =+ 2kx x €(2,4]
qg+x x € (4 +o2)

3.- (2,0 pointg). A sports club will apply for a competition in which it will qualify for the next phase if the
average score oblained by the athletes is higher than 24 poinis, The distribution of team scores follows a
normal distribution with an average of 25 and a standard deviation of 5 points.

What iz the probability of the club gualifying if a team of 15 sportsmen and women shows up? What if the
team is made up of 25 sportsmen and women? Which team will be selected to participate?

03
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